HEIUT BEHHHR
MRt 7—RAVT4=T 4

[RRIE R LR (Bl 0Bt

( 2024478 Bt ERA)
TEOBUHRFRERERMESO>LOLET,
R EREEM 10.51 H/m (B
(#A)
TR 5 7 2 2024428 ~20244F4 7
k> =Y B4 95,150 F/t(Bi4R)
(ko 27U T EE DRTHRE HLNG - LPGHIA SR 5 L UH A i)
HAE I RO () 83350
LNG(F9) LPG(F)
2024428 ~20244F4 7 T 94,760 94,690

b AV RHBEOHE E
b 2 7zYLNGF 1 {Hi#5 X 0.9576 + b 2 7YLPGFHH# x 0.0466

- 94,760 M/tx0.9576 + 94,690 M/tx0.0466
= 95,150 M/t(# )

JREHEE BN EROE E

b S 7Y RIS — BT A
= 95,150 A/t - 83,360 M/t = 11,800 M/t

= 11,800 H/t(100M™k#E )

M EAEEMmIH-YRAEB) DEE
JFAHEHE 2% + 100 x 0.0891 —(0.081 > HEHI %K)
= 11,800 M/t +100%0.0891= 1051 F/m(#iA)




